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MATHEMATICS

National 5 – Applications

Unit 3 Test – PRACTICE NAB 3
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Answer these questions
Assessment Standard 1.1   Q1 – Q3
Q1
Susie Sue wishes to sow grass seeds on a triangular plot of ground.

The diagram gives the dimensions of the flower bed.



Calculate the area of this plot to the nearest square metre.


           (2)
Q2
The diagram below shows how a golf ball was hit from the tee (T) to position G a distance of 270 yards. The flag (F) is 420 yards from the tee. 
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What is the shortest distance that the golf ball still has to travel to get to the Flag?   













        (4)
Assessment Standard 2.1 also 

Q3
Ocean buoys in the Atlantic are positioned at Kings (K), Queens (W) and Princes (P) as shown in the diagram below.



Kings is 190 kilometres from Princes. Queens is 380 kilometres from Princes.

Princes is on a bearing of 126° from Kings. 

Calculate the bearing of Princes from Queens.

Give your answer to the nearest degree.





     ( 2 , 1 )

Assessment Standard 1.2

Q4
The diagrams below show 2 directed line segments u and v.
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Draw the resultant vector of 2u + v .  on the grid on the answer paper.                      (3)
Q5
The diagram below shows a square based model of a glass pyramid of height 8 cm. Square OABC has a side length of 14 cm. 


The coordinates of A are (14, 0, 0). C lies on the y-axis.



Write down the coordinates of D.






            (1)
Q6
The forces acting on a body are represented by three vectors p, q and r as given below.


       p = 
[image: image2.wmf]ú

ú

ú

û

ù

ê

ê

ê

ë

é

5

.

3

5

4

,        q = 
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,        r = 
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Find the resultant force. 








(2)
Assessment Standard 1.3

Q7
Vector  
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Calculate                
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Leave your answer in surd form.                                  



(3)        
Q8
Andy Archer bought an antique motorbike for £4,100. Its value increased by 3% each year. Find the value of the motorbike after 4 years.













(3)
Q9
Charlie measures the length and breadth of the garden as shown in the diagram below. 
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Calculate the exact area of the garden (in m2).




(2)
Assessment Standard 2.1  Q10 only

Assessment Standard 1.4, Q10 – Q12    

Q10
The value of a house increased over a ten year period by 24% to £315 650. 

Find the original value of the house ten years ago.















(1 , 1)
Assessment Standard 2.2 Q11 & Q12
Q11
The table below shows the monthly profits made by a chemical company C during the period January to July 2012. Profits are in millions of pounds. 
	 Name of Company
	Profits in millions of £s 

	
	Jan
	Feb
	Mar
	Apr
	May
	Jun
	Jul

	 Company C
	18
	23
	20
	19
	22
	17
	21

	
	
	
	
	
	
	
	


(a) Calculate the mean and the standard deviation of Company C’s profits during this 7 month period.


















                                  



 
      (4)

        During this 7-month period, another company, Company D, had monthly profits with a mean of 21.6 million pounds and a standard deviation of 1.8 . 
(b) Using these statistics, compare the profits of the two companies and make two valid comparisons.



















       







       (1)

Q12
A scientific test was conducted on a low voltage energy lamp to test the resistance (R ohms) at various voltages (V volts). 


The results of the test were plotted in the scatter graph below.
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(a)   Determine the gradient and the y-intercept of the line of best fit shown.    














      (3)

(b)   Using these values for the gradient and the y-intercept, write down the 


equation of the line.


















    
     (1)

(c)  Estimate the value of the resistance when the voltage is 17 volts.








                                                    

      (1)
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 Low Voltage Energy Lamp Test
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